
 4024 MAX
158-7/16 MAX

 

 1369
53-7/8

 
 3150 [10'-4"] MAX LOG LENGTH 

 518
20-3/8

 

489 MAX
19-1/4 MAX

BLADE-TO-BUNK

 1748 MAX
68-13/16 MAX

 

FEET ARE ADJUSTABLE
44 TO 114 [1-3/4 TO 4-1/2]

 1585
62-3/8

 

559
22

 661
26

 

NOTES:

DIMENSIONS LOCATED WITHIN SQUARE BRACKETS [  ] ARE IN INCHES.1.

SIZE DWG NO

SCALE SHEET

REVHM122-2021
1:20 1 OF 1

A3

WOODLAND MILLS FORESTRY EQUIPMENT
171 NORTH PORT RD, UNIT #1
PORT PERRY, ON L9L 1B2, CANADA
1 (855) 476-6455

HM122 STANDARD: OVERALL DIMENSIONS

DATE 29-03-2021

C
:\V

AU
LT

\P
R

O
D

U
C

TS
\S

AW
M

IL
LS

\H
M

12
2\

20
21

\H
M

12
2-

20
21



 5974 MAX
235-3/16 MAX

 

 1369
53-7/8

 

 5100 [16'-9"] MAX LOG LENGTH 

 518
20-3/8

 

489 MAX
19-1/4 MAX

BLADE-TO-BUNK

 1748 MAX
68-13/16 MAX

 

FEET ARE ADJUSTABLE
44 TO 114 [1-3/4 TO 4-1/2]

 1585
62-3/8

 

559
22

 661
26

 

NOTES:

DIMENSIONS LOCATED WITHIN SQUARE BRACKETS [  ] ARE IN INCHES.1.

SIZE DWG NO

SCALE SHEET

REVHM122-2021
1:24 1 OF 1

A3

WOODLAND MILLS FORESTRY EQUIPMENT
171 NORTH PORT RD, UNIT #1
PORT PERRY, ON L9L 1B2, CANADA
1 (855) 476-6455

HM122 WITH EXTENSION: OVERALL DIMENSIONS

DATE 29-03-2021

C
:\V

AU
LT

\P
R

O
D

U
C

TS
\S

AW
M

IL
LS

\H
M

12
2\

20
21

\H
M

12
2-

20
21



18

12X

3

2X

14

8X

2

132X

910

5
11

2X

7

8

2

14

4X

13 4X

18 4X

12X

17

2X

6
132X

10

12 6X

4 6X

16 18X

152X

152X

NOTES:

DIMENSIONS LOCATED WITHIN SQUARE BRACKETS [  ] ARE IN INCHES.1.
RECOMMENDED SHIPPING BOX SIZE: 83-1/2L X 32W X 24-1/2H in [2120L X 810W X 620H mm].2.
SHIPPING WEIGHT: 84 lb [38 kg].3.

ITEM QTY PART NO DESCRIPTION LEGACY
PARTS LIST

18 16 FLN-MBMCL LOCK NUT, FLANGED, CLS 10, M10 X 1.5 N/A
17 2 HLN-MBJCH LOCK NUT, CLS 8, M8 X 1.25 N/A
16 18 HXN-MCACH HEX NUT, CLS 8, M16 X 2 N/A
15 4 HXN-MBMCH HEX NUT, CLS 8, M10 X 1.5 N/A
14 12 FHH-MBM085FCM HEX BOLT, FLANGED, CLS 10.9, M10 X 1.5, 30 mm LG, FULL N/A
13 8 FHH-MBM080FCM HEX BOLT, FLANGED, CLS 10.9, M10 X 1.5, 25 mm LG, FULL N/A
12 6 HHB-MCA175FCJ HEX HEAD BOLT, CLS 8.8, M16 X 2, 120 mm LG, FULL N/A
11 2 HHB-MBJ075FCJ HEX HEAD BOLT, CLS 8.8, M8 X 1.25, 20 mm LG, FULL N/A
10 2 0001059 T-BOLT, M10 X 1.5, 40 mm LG 87
9 1 0001465 LOG SUPPORT, KEY STOP, 190 mm LG 91
8 1 0001056 LOG SUPPORT, BEVELLED, 450 mm LG 82
7 1 0001462 LOG CLAMP, HM122 89
6 1 0001461 LOG CLAMP ARM, HM122 440
5 1 0001460 LOG CLAMP CONNECTING ROD, HM122 458
4 6 0001071 LEVELLING FOOT BASE 189
3 2 0001463 REINFORCEMENT PLATE, 63.5 X 126 mm 441
2 2 0001458 LOG BUNK, MID, HM122 439
1 2 0001459 TRACK RAIL, 63 X 60 mm, 1950 mm LG 442

SIZE DWG NO

SCALE SHEET

REV0002091
1:12 1 OF 1

A3

WOODLAND MILLS FORESTRY EQUIPMENT
1431 SCUGOG LINE 6
PORT PERRY, ON L9L 0C3, CANADA
1 (855) 476-6455

HM122 TRACK EXTENSION

DATE 24-09-2021

C
:\V

AU
LT

\P
R

O
D

U
C

TS
\S

AW
M

IL
LS

\_
C

O
M

PO
N

EN
TS

\T
R

AC
KS

\E
XT

EN
SI

O
N

S\
00

02
09

1



STANDARD TRACK

14

2X 7
8

11 2X

10 2X

9

16 4X

21

4X

3

168X

64X

218X

21

4X

16 4X

17 4X

16 4X

21 4X

21 4X

16 4X

3

2

2

2
14X

12

20 2X

12

162X

1512X

512X

1924X

162X

162X

12

182X

182X

18
EXTENSION

13

42X

2112X

178X

1912X

ITEM STD EXT PART NO DESCRIPTION LEGACY
PARTS LIST

21 36 36 FLN-MBMCL LOCK NUT, FLANGED, CLS 10, M10 X 1.5 N/A
20 2 2 HLN-MBJCH LOCK NUT, CLS 8, M8 X 1.25 N/A
19 36 36 HXN-MCACH HEX NUT, CLS 8, M16 X 2 N/A
18 6 6 HXN-MBMCH HEX NUT, CLS 8, M10 X 1.5 N/A
17 12 12 FHH-MBM085FCM HEX BOLT, FLANGED, CLS 10.9, M10 X 1.5, 30 mm LG, FULL N/A
16 30 30 FHH-MBM080FCM HEX BOLT, FLANGED, CLS 10.9, M10 X 1.5, 25 mm LG, FULL N/A
15 12 12 HHB-MCA175FCJ HEX HEAD BOLT, CLS 8.8, M16 X 2, 120 mm LG, FULL N/A
14 2 2 HHB-MBJ075FCJ HEX HEAD BOLT, CLS 8.8, M8 X 1.25, 20 mm LG, FULL N/A
13 - 1 0002091 HM122 TRACK EXTENSION HM122C
12 3 3 0001059 T-BOLT, M10 X 1.5, 40 mm LG 87
11 2 2 0001465 LOG SUPPORT, KEY STOP, 190 mm LG 91
10 2 2 0001056 LOG SUPPORT, BEVELLED, 450 mm LG 82
9 1 1 0001462 LOG CLAMP, HM122 89
8 1 1 0001461 LOG CLAMP ARM, HM122 440
7 1 1 0001460 LOG CLAMP CONNECTING ROD, HM122 458
6 4 4 0001055 CARRIAGE STOP 172
5 12 12 0001071 LEVELLING FOOT BASE 189
4 2 2 0001463 REINFORCEMENT PLATE, 63.5 X 126 mm 441
3 2 2 0001457 LOG BUNK, END, HM122 443
2 3 3 0001458 LOG BUNK, MID, HM122 439
1 4 4 0001459 TRACK RAIL, 63 X 60 mm, 1950 mm LG 442

SIZE DWG NO

SCALE

REV0001502
1:10

A2

WOODLAND MILLS FORESTRY EQUIPMENT
1431 SCUGOG LINE 6
PORT PERRY, ON L9L 0C3, CANADA
1 (855) 476-6455

C
:\V

AU
LT

\P
R

O
D

U
C

TS
\S

AW
M

IL
LS

\_
C

O
M

PO
N

EN
TS

\T
R

AC
KS

\0
00

15
02

HM122 TRACK EXPLODED VIEW

1 OF 3SHEET27-09-2021DATE



4024 MAX 158-7/16 MAX  @ CARRIAGE STOPS

127 5

963 37-15/16

1696 66-3/4

1950 76-3/4

2683 105-5/8

3646 143-9/16

ADJUSTABLE
170 TO 240
[6-5/8 TO 9-1/2]

661 26

589 23-3/16

3934 154-7/8  @ BUNKS

DIRECTION OF CUT

NOTES:

DIMENSIONS LOCATED WITHIN SQUARE BRACKETS [ ] ARE IN INCHES.1.

SIZE DWG NO

SCALE SHEET

REV0001502
1:16 2 OF 3

A3

WOODLAND MILLS FORESTRY EQUIPMENT
1431 SCUGOG LINE 6
PORT PERRY, ON L9L 0C3, CANADA
1 (855) 476-6455

HM122 STANDARD TRACK ASSEMBLY

DATE 27-09-2021

C
:\V

AU
LT

\P
R

O
D

U
C

TS
\S

AW
M

IL
LS

\_
C

O
M

PO
N

EN
TS

\T
R

AC
KS

\0
00

15
02



5974 235-3/16  @ CARRIAGE STOPS

127 5

963 37-15/16

1696 66-3/4

1950 76-3/4

2683 105-5/8

3646 143-9/16

3900 153-9/16

4633 182-3/8

5596 220-5/16

ADJUSTABLE
170 TO 240
[6-5/8 TO 9-1/2]

661 26

589 23-3/16

5884 231-5/8  @ BUNKS

DIRECTION OF CUT

NOTES:

DIMENSIONS LOCATED WITHIN SQUARE BRACKETS [ ] ARE IN INCHES.1.

SIZE DWG NO

SCALE SHEET

REV0001502
1:20 3 OF 3

A3

WOODLAND MILLS FORESTRY EQUIPMENT
1431 SCUGOG LINE 6
PORT PERRY, ON L9L 0C3, CANADA
1 (855) 476-6455

HM122 TRACK ASSEMBLY WITH EXTENSION

DATE 27-09-2021

C
:\V

AU
LT

\P
R

O
D

U
C

TS
\S

AW
M

IL
LS

\_
C

O
M

PO
N

EN
TS

\T
R

AC
KS

\0
00

15
02


